STATUE PARK
Place each of the shapes from the given bank of shapes exactly once into the grid, with rotations and
reflections allowed. No two shapes can overlap or be orthogonally adjacent, and all of the space not

occupied by shapes must be connected. Black circles in the grid represent spaces that must be
contained in one of the shapes, and white circles represent spaces that must not be contained in a
shape.

This puzzle uses 2 sets of standard pentominos.

Answer key 1: Enter the first three pentominos seen along the marked rows. (— if not enough pentominos).
Answer key 2: Enter the first three pentominos seen along the marked columns. (— if not enough pentominos).
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FILLOMINO

Divide the grid along the dotted lines into regions called polyominoes so that no two polyominoes with
the same area share an edge. Inside some cells are numbers; each number must represent the area
of the polyomino it belongs to. A polyomino may contain zero, one, or more of the given numbers.

Ignore the circles while solving.

Answer key: Enter the digits in circled cells from left to right. In case of double or triple digit numbers, enter only
the unit (right most) digit.
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NURIKABE

Shade some empty cells black so that the grid is divided into white areas, each containing exactly one
number and with the same area in cells as that number. Two white areas may only touch diagonally.
All black cells must be connected with each other, but no 2x2 group of cells can be entirely shaded
black.

Answer key 1 : Enter the lengths of longest horizontal shaded cell block for the marked rows
Answer key 2 : Enter the lengths of longest vertical shaded cell block for the marked columns
In case of double digit numbers, enter only the unit (right most) digit.
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MEANDERING NUMBERS

Place a number into each empty cell so that each cell has exactly one number and cells that contain
the same number do not touch each other, not even diagonally. Each outlined area must contain the
numbers from 1 to N (where N is the size of the outlined area in cells) such that consecutive numbers
within an outlined area are orthogonally adjacent. (In other words, for each region it must be possible
to draw a path that starts at 1 and ends at N, going through each other cell exactly once and in
numerically increasing order.)

Shading is for visual / aesthetic appeal only. Ignore shading and the circles while solving.

Answer key: Enter the digits in circled cells from left to right. In case of double digit numbers, enter only the unit
(right most) digit.

oA iw]—=|n

—h
O_L

{cof:-oo\lmr\)—uoo.h—u

SN CEFARINNY B ) FARINNY JER TN

—i
o

—h
o
‘wils | w|sriwio|dw| s |alo]o| N ool |w

-l;cn-h—ucn-f—i}m—ur\)cnmmov-uovw

ginfaloa|v]o|ad|ad]av]olo| o

W[ a|lw ala|o|lrlwdv]|olod]ofo] =
ENENIFSY (O RSN IR KSR T ENE N R PO RN

NV iw o|a|lofsaia|lolaldololado| =

Moo |N|o|v | afnjw|o slol=]s v

o |w v|jo|swlo|s|w|s|w]sfo]o| N~
~vw sloluislo s|o|w|v|lolalw]=

2
5
2
4
3
1
6
3
14
3
4
Q)
2
3
2
3
3

I‘-hj:-hcn\lool\)cncnr\)cn—u-h-bf:-hfz-oocnl\)
w|o|o|sim]w|lo|ala|w vo| =] w
(Wi|=|o|o|lw|s]afwinv|a|lo|lo|Nlo|o|s|w

‘wilvN= v ol o | o

Nil= ]2 ©
{LO)O‘I—LO‘I@\I—L

PRI PO PO PO PO PO PO
K . e . . . e . e . e . e
! LN ! LN v’ !
[ [ [ [ [ [
l“ l“ l“ l“ l“ l“
4 4 4 4 4 4
. . . . . . .
e’ cane’ ~ee? e’ ~ele? ceLe?

BY KO OKAMOTO FOR PUZZLE MARATHON AT LOGIC MASTERS INDIA



TURNING FENCES

Draw a closed loop by connecting dots horizontally and vertically. The numbers in the grid indicate the
amount of turns taken on the four dots around it.

Answer key 1: Enter the lengths of the longest horizontal loop segment for the marked rows. ("-" if no horizontal
loop segment)

Answer key 2: Enter the lengths of the longest vertical loop segment for the marked columns ("-" if no vertical
loop segment)

In case of double digit numbers, enter only the unit (right most) digit.
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REGIONAL BATTLESHIPS

Place one copy of the fleet shown inside each black-edged region of the grid. The ships do not touch,
not even diagonally, and cannot cross the boundaries of the regions. The number of ship segments in
each row and column is indicated outside the grid. Some ship segments may be already placed.

Answer key 1: Enter the lengths of the first 3 consecutive groups of unoccupied cells for the marked rows (from
left to right). Enter *-" if less than 3 groups.

Answer key 2: Enter the lengths of the first 3 consecutive groups of unoccupied cells for the marked columns
(from top to bottom). Enter *-" if less than 3 groups.

In case of double digit numbers, enter only the unit (right most) digit.
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REGIONAL CODED SNAKE

Find a snake which forms a single continuous path from the head to the tail. The head and tail of the
snake are marked with black circles. Adjacent cells of the snake are connected horizontally or
vertically. The snake has one cell width and cannot touch itself even at a point.

In the grid, there are some regions surrounded by thick lines. Each of these regions MUST contain exactly 5 segments
of the snake. There are also some cells which do not belong to any region as they are not surrounded by thick lines on
all sides.

Each of the alphabets at the top represents the code for a different number from 1 to 13. Same alphabet indicates the
same number and different alphabets indicates different numbers. The alphabets indicate the number of snake
segments in the particular column. The numbers on the left indicate the number of snake segments in the particular
row.

Some cells are already grayed. These cells cannot form part of the snake.
Answer key 1: # of cells occupied by the snake in the marked rows.

Answer key 2: # of cells occupied by the snake in the marked columns.
In case of double digit numbers, enter only the unit (right most) digit.
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Write all given names into the grid » M| A
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names should be read from top to

bottom or from left to right. v

There can not be other words in

>QIrlo

the grid. All cells where words P

m|X|[—|—|W»
Z|/ T mMO|— |

begin are marked.
9 LiI[A[N

Draw a single closed loop going

horizontally or vertically through

>IX—|Z|0/TmM<

centres of all empty cells. T

Answer Key 1 : v

Enter the letters in

==

the shaded cells

for the marked

rows.

Answer Key 2 :

> Z2|Z2|/> 0> 1V |0

Enter the

number of turns

) m|r|>»|0
| >(c|m|-d
O
w
I

of the loop, for b
marked columns:

In case double digit

numbers, enter only
the unit digit.

~H (DD Mmw O|l>
nim|>|ic

@)
—|Az>M0O|—|I
z
W)

O|R

< > || m

I

O

<
—|C|>|T

ABC KO

AMIT KOTA
ANDERSON  LIANE

> <mXx|>d

r|—\m{Z

ANNICK MANUELA b
ATTILA MASAHIRO

BASTIEN MURAT TAKEYA

LMI 2015

BJOERN NEIL TAKUYA
BRAM NIKOLA TAMEKASA

XO—=|1Z2|Z >
>0 xMI | >H

DAVE OLGA TARO P

EMMA PALMER TEJAL

ENDO PAUL TERRENCE
EVA PETER THOMAS
GERDA PIERRE TIT
HIDEAKI PRASANNA  ULRICH
IBON ROBERT VERONIKA
IGOR SILKE YUJIRO
JAMES STEFANO YUKI
JOSHUA TAAVI ZOLTAN

T O|D|—
>
<
>|I<|C|X|>H
uy)
P

m|<|>|0
—|=|—|4

Ol —||C|=<
moO|Z2/m{IJ |3/ |m|—

SCRABBLE WITH LOOP - BY RIAD KHANMAGOMEDOV FOR PUZZLE MARATHON AT LOGIC MASTERS INDIA



HIDOKU

Write a different number between 1 and 400 into every cell of the diagram, using each number exactly
once. Consecutive numbers must be in orthogonally or diagonally adjacent cells.

Ignore the circles while solving.

Answer key: Enter the digits in circled cells from left to right. In case of double or triple digit numbers, enter only
the unit (right most) digit.
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SUMMON

Fill the grid digits from 1 to 3, so that each region includes all digits exactly once. Same digits cannot
touch each other, even diagonally. Outside clues show the sum of all numbers in the corresponding
direction. Numbers should be read from left to right or top to bottom.

Shading is for visual / aesthetic appeal only. Ignore shading and the circles while solving.

Answer key: Enter the digits in circled cells from left to right. Enter X for blank cells.
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